
democracy is unchallenged° Furthermore, unchallenged today is the idea 

of industrial development and interdependence° It wasn't always this 

way° Even in Australia, where people bought only British goods, neverthe- 

less each one of the states in Australia was so independent that they had 

different gages on the railroad lines. To this day you can't go across 

Australia from Sydney to Perth without changing the gage three times on 

the way. This was the legacy of the period when each state wanted to be 

self-sufficiento 

But they have got over this and now they are working together on 

a national policy° Here, therefore, is a democracy and an industry devel- 

oping almost without resistance, but at the o£her end of the world, in 

isolation, removed from the rest of the world, in,the center of the water 

hemisphere. 

Today the impact of one country on another country depends in part 

on its gross national product per capita, divided by the distance that 

separates the country from the center of the land hemisphere, and that is 

Western Europe. All the various countries of the world are closer on the 

average to Western Europe than to any other single place on the globe, as 

you can see when you look at the land hemisphere map and the concepts° 

This means that what happens to Western Europe is more important to the 

rest of the world than what happens anywhere elseo ~nat happens in Argen- 

tina is important to the Argentines but to nobody else. 
can 

Then, what/we say about all this? How can we summarize this in 
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